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[ The nuwmber of roots of the cquation ¢ = 3 — 2¢ in the \! i}f xv@{&j

interval [0, 1] is:
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The function f(x) = sin 2+ cos 2 has on the interval [0. 7] :

@ an absolute minimum at £ = 7 and an absolute maximum at £ = —

( b) an absolute mininmum at £ = 0 and an absolute maximum at 2 =

(L) an absolute minimum at & — 7 and an absolute maximum at 2 = ()
((’1) an absolute maximum but no absolute minimum

(O) an absolute minimum but no absolute maximum
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3. The function f(r) = 2°(xr—9)" is decrcasing on the interval
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4. The number of local extreme values of f(r) = 24— 322 — 1
on the interval [~2, 2] is (Hint: You may sketch the graph)
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5. The number of critical nunbers of f{x) = 2!/ — 2=2/% ig
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8. Let 2’ 4y° 422 =09, & o 5and Y~y When x = 2,y = 2
dt dt
dz
and z = 1, we have — =
dt
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9. A particle is zzzii’,}vinﬁ‘ ;’ziongz the hyperbola 2y = 8./
reaches the
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> point (/ , the y-coordinate isl neiat a
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rate of 3cem/s. The a- i(}onhm(ﬁf at that instant is

) increasing at a rate of 6.cm/s

decreasing at a rate of 4em/s

decreasing at a rate of 2cm/s
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decreasing at a rate of 6em/s
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10, W f/(z) ="+ 2" + 7" and f(0) = o + 1, then f(x)
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1. A particle moves in a straight line and has an acceleration
aft) = Gt+4 cm/s*. 1 its initial velocity is v(0) = —6 ¢mn/s
and its initial displacement is s(0) = 9 ¢m, then

s(1) (in em) is equal to
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13, The slope of the line tangent to the curve
A€ Slope ot t e tang
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15 If we use Newton’s Method to approximate the solution for
?*
2r =3 cos = 0 starting with 2, == 5 then the second
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16. The hypotheses of the Mean-Value Theorem are satisfied

for:
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19.

20.
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The volume of a cube was found to be 8 ern® with possible
error of 0.1 crn in the measurement of its edge.

Using differentials, the estimation of the maxinum possible
error in computing its volume (in em? ) is
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The linearization of f(x) = cos(x) at x = 0 is L(x) =
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21. I'he nuber of inflection points [(2) = 2° — x — I is
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23 It /”3’ - %v« f”/ = 1 fﬁii ) = =2 and ¢ {1} = ‘miﬂf‘}
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24.  The slope of the normal line to the curve of f(x) = sec?(x)

at (7,2) 18 A i;j .
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25.  The curve f(r) = = tan '(x) + 2 + 1 has
two slant 13&111;)1(&{% which are
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3 H be the number of horizontal asynip-

totes and V' be the number of vertical asymptotes. Then
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